

5

1

$$y, y \in \cup p\mathbb{Z} \quad .1$$

$$m \quad m \in \mathbb{Z} - \{1, -1\} \quad : \quad . y \notin \{1, -1\}$$

$$m \quad q \quad m \quad . m = m \cdot 1 \in m\mathbb{Z} \subseteq \cup p\mathbb{Z}$$

$$. m \in q\mathbb{Z} \subseteq \cup p\mathbb{Z}$$

$$\{1, -1\}, \quad . \quad \mathbb{Z} - \{1, -1\} \quad \{1, -1\} \quad .2$$

$$.3$$

$$(1) \quad " \quad . \quad \cup p\mathbb{Z}$$

$$.(2) \quad \mathbb{Z} - \{1, -1\} -$$

2

$$. \mathbb{R} = \bigcup_{n \in \mathbb{N}} [-n, n)$$

$$[a, b), [c, d) \quad :$$

$$, \quad . \quad , \quad : \quad . (? \quad)$$

$$. e = \max\{a, c\}, \quad f = \min\{b, d\} \quad [a, b) \cap [c, d) = [e, f)$$

$$- \quad " \quad \dagger \subseteq T \quad . [2, 3) \in T \setminus \dagger \quad T \not\subseteq \dagger \quad .$$

$$(x \quad) \quad v_x > 0 \quad x \in O \quad O \in \dagger \quad . \dagger \subset T$$

$$, O \subseteq \bigcup_{x \in O} [x, x + v_x) \subseteq \bigcup_{x \in O} B(x, v_x) \subseteq O \quad . B(x, v_x) \subseteq O$$

$$. O \in T \quad O = \bigcup_{x \in O} [x, x + v_x)$$

$$\begin{aligned}
 & U \quad 0 \quad U \quad \cdot \quad " \quad 0 \quad \frac{1}{n} \quad . \\
 & \cdot 0 \in [a, b) \subseteq U \quad [a, b) \quad [a, b) \\
 & n_0 \in \mathbb{N} \quad 0 < b \cdot 0 \in [0, b) \subseteq [a, b) \subseteq U \quad a \leq 0 < b \\
 & n \geq n_0 \quad \cdot b > \frac{1}{n_0} \geq \frac{1}{n} > 0 \quad n \geq n_0 \quad \cdot b > \frac{1}{n_0} \\
 & \quad \quad \quad \cdot \frac{1}{n} \in (0, b) \subseteq [0, b) \subseteq [a, b) \subseteq U
 \end{aligned}$$

$$\begin{aligned}
 & " \quad \ddagger \subset T \quad x = 0 \quad \frac{1}{n} \xrightarrow{\tau} x \quad : \\
 & \frac{1}{n} \xrightarrow{\ddagger} x \quad \frac{1}{n} \xrightarrow{\ddagger} x \quad \frac{1}{n} \xrightarrow{\tau} x \\
 & \quad \quad \quad \cdot (? \quad) \quad x = 0
 \end{aligned}$$

3

$$\begin{aligned}
 X - \quad Q \subseteq X \quad \Leftrightarrow \quad A - \quad S \subseteq A \quad , \quad A \subseteq X \quad \cdot " \quad X \\
 \quad \quad \quad \cdot S = Q \cap A - \\
 \cdot A - \quad S - \quad , S = Q \cap A - \quad X - \quad Q \subseteq X \quad \Rightarrow \\
 X - \quad (X \setminus Q) \cdot A \setminus S = A \setminus (Q \cap A) = A \cap (X \setminus Q) : \\
 \cdot A \setminus S - \quad \cdot A - \quad A \cap (X \setminus Q) \\
 \quad \quad \quad \cdot A - \quad S \quad A - \\
 \cdot S = Q \cap A - \quad X - \quad Q \subseteq X \quad , A - \quad S \subseteq A \quad \Leftarrow \\
 - \quad X - \quad V \subseteq X \quad , \quad A - \quad , \quad S - \\
 , \quad \cdot S = A \setminus V \Leftarrow A \setminus (A \setminus S) = A \setminus (V \cap A) , \quad \cdot A \setminus S = V \cap A \\
 \cdot \quad \quad \quad Q = X \setminus V \quad \cdot S = A \cap (X \setminus V) \quad , " \quad , \quad \cdot A \setminus V = A \cap (X \setminus V)
 \end{aligned}$$

$|X| < \infty$.
 $|X| = \infty$.
 $f^{-1}(U) \subseteq X$, $\forall U \subseteq Y$,
 $f : (X, \tau) \rightarrow (Y, \tau)$.

$f : (X, \tau_{disc}) \rightarrow (Y, \tau)$.
 $f^{-1}(U) \subseteq X$, $\forall U \subseteq Y$,
 $f : (X, \tau) \rightarrow (Y, \tau_{trivial})$.
 $f^{-1}(\emptyset) = \emptyset$, $f^{-1}(Y) = X$.
 $f :$

$\tau_3 \subseteq \tau_2$, $f^{-1}(U) \in \tau_1$, $U \in \tau_2$, $f : (X, \tau_1) \rightarrow (Y, \tau_2)$.
 $f^{-1}(U) \in \tau_1$, $U \in \tau_3$, $f : (X, \tau_1) \rightarrow (Y, \tau_3)$.
 $f^{-1}(U) \in \tau_4$, $U \in \tau_2$, $f : (X, \tau_1) \rightarrow (Y, \tau_2)$,
 $f : (X, \tau_4) \rightarrow (Y, \tau_2)$, $\tau_1 \subseteq \tau_4$.

$Z \cap Y = Z \cap Y$, $\{Y\} : \Leftarrow$
 $Z \cap U_i, i \in I$, Y , Z , Y , $Y \setminus Z$: \Leftarrow
 $Y \cap U_i, i \in I$, Y , U_i , $(Y \setminus Z) \cap U_i$ " U_i
 $i \in I$, Y , $(Y \setminus Z) \cap U_i$ " , $i \in I$

$$\bigcup_{i \in I} ((Y \setminus Z) \cap U_i) = (Y \setminus Z) \cap \bigcup_{i \in I} U_i$$

$Y \setminus Z$, $(Y \setminus Z) \cap \bigcup_{i \in I} U_i = (Y \setminus Z) \cap Y = Y \setminus Z$: Y , $\{U_i\}_{i \in I}$.
 Y